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In the proof of E C ﬂfecn T(f) of Theorem 3 of [1], there is a gap. The-
orem 3 of [1] should reads as follows.

THEOREM 3. Let X,Y,D and C be as in Theorem 1, and let C* #{. Let
G, H:D x D — 2Y be set-valued mappings satisfying the conditions (i)—
(vi) in Theorem 1. In addition, assume that G, H satisfy the following
condition:

(vii) for any fixed y € D, G(.,y) + H(.,y): D — 2Y is proper quasi-
C-concave, i.e., for any x1, xo€ D, t €[0,1], x =tx; + (1 —t)x2, and for any
weG(x,y)+ H(x,y), there exists wi € G(x1,y)+ H(x1,y) or waeG(xa, y)+
H(xy,y) such that wew;+C or wew,+C.

Then the solution set of (VEP 1)

E={xeK:G(x,y)+ H(x,y)CcY\(—intC), VyeD}
is convex. If C satisfies the condition (A), then the solution set of (VEP 3)
E.={xeK:G(x,y)+ H(x,y)CY\(-C\{0}), VyeD}

is convex.

Proof- We only show the case of (VEP 1). The other one can be proven
similarly. By Theorem 1, E #0. Since C is a closed, convex pointed cone
with intC #0, we have

Y\(~intC) 4+ C =Y\ (~intC), (1)
and
Y\(=C\{0}) +C =Y \(—C\{0}). (2)

Let x;, x, € E,t€[0,1] and x =tx; + (1 —#)x,. We show that x € E. It fol-
lows from x; € E, (i =1, 2) that
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G(-xlvy)+H(-xlay)CY\(_lntC)v VyEDv l=1a2- (3)

For any w € G(x,y) + H(x,y), by the condition (vii), we have w; €
G(x1,y)+H(x1,y) or wy€G(x2,y)+ H(xz,y) such that

wew+C or wewy,+C. “4)

By (1),(3) and (4), we have w € Y\(—intC). Since w is arbitrary, we get
xek. |

Theorem 4 of [1] should reads as follows.

THEOREM 4. Let X,Y,D and C be the same as in Theorem 3. Let G,
H:D x D —2Y satisfy all the conditions in Theorem 2. In addition, assume
that the following condition holds:

(vi) for any fixed y e D, G(.,y)+ H(.,y): D — 2Y is proper quasi-
C-concave. Then the solution set of (VEP 1)

E={xeB:G(x,y)+H(x,y)CY\(—intC), VyeD}

is convex. If C satisfies condition (A), then the solution set of (VEP 3)
E,={xeB:G(x,y)+ H(x,y) CY\(—C\{0}), VyeD}

Is convex.
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